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1. Solve the equation by factoring. 3/ - 5 f ‘rl‘;r’ é‘ “ee { /Q/"‘g‘f 01 X —7"&3/
B L %
8x° +10x-7=0 ~ = & - =2
:.x [ax“:f.) czmg  AE(A) Fr(jffo—%@f_l/x /e o X 73{ 7
The solytion set is { )} <( 5) - A1) X —- 7 2
{Use a comma to separate answers as needed.) -
A= Aot (}/oo +22y /
Answer: 1 7
2 4 /

X+ —/0"5(/32\/

ID: 1.6.5 ’i —~ O £ /7
:-'_—___J ".
— _;“{4-‘_'_‘—‘—-—-4{ —
2. Solve the given radical equation. Check all proposed solutions.

A3x+28 =x+8 |

,éelect the correct choice below and, if necessary, fill in the answer box to complete your choice. |

) A. The solution set is {
{(Use a comma to separate answers as needed )
) B. There is no solution.

- Answer: A. The solution set is 1 r.{(Use a comma to separate answers as needed.)
c Hack
ID: 1.6.15 V25 ~ X7
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At ¢ =0 O Xt7 =2 |
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3. Use the graph to determine Ay
4
{a) open intervals on which the 2
o function is increasing, if any. | X

(b) open intervals on which the 76543211 1A3A567
function is decreasing, if any. -2
{c} open intervals on which the ey
function is canstant, if any. -6

(a) Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The function is increasing on the interval(s) :
(Type your answer in interval notation. Use a comma to separate answers as needed.)

(O B. The function is never increasing.

{b) Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The function is decreasing on the interval(s)
(Type your answer in interval notation. Use a comma to separate answers as needed.)

(O B. The function is never decreasing.

(c} Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The function is constant on the interval(s) -
{Type your answer in interval notation. Use a comma to separate answers as needed,)

(O 8. The function is never constant.

Answers A, The function is increasing on the interval(s) (= oo, 2),(3, 4) .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The function is decreasing on the interval(s) (2, 3),(4, c0) .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The function is never constant.

ID:2.29
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4,
The graph and equation of the function f are given. d_ f(x) = 2% + 6x% = 18x + 1
a. Use the graph to find any values at which f has a relative ‘
maximum, and use the equation to calculate the relative Sf“:w" r
maximum for each vaiue. ({:‘]‘1; E /
b. Use the graph to find any values at which f has a relative f Nt

minimum, and use the equation to calculate the relative

. Loa \
miniraum for each value, QO )'é\) rﬂ e

[-5.51) by [-70,70,10]

a. Select the correct choice below and, if necessary, fill in the answer boxes to complete your choice.

() A. The function f has (a) relative maxima{maximum) at and the relative
maxima{maximum) are{is) .
{Use a comma to separate answers as needed.)

() B. The function f has no relative maxima.

b. Select the correct choice below and, if necessary, fill in the answer boxes to complete your choice.

) A. The function f has {a) relative minima(minimum) at and the relative
minima(minimum) are{is)
(Use a comma to separate answers as needed.)

() B. The function f has no relative minima.

Answers A.
The function f has (a) relative maxima(maximum) at -3 and the relative maxima{maximurmn) are(is)

[ s |

(Use a comma to separate answers as needed.)

A
The function f has (a) relative minima{minimum) at l 1 and the relative minima({minimum) are(is)

{Use a comma to separate answers as needed.)

512002019, 12:45 PM
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5. The domain of the piecewise function is { — co,c0). X+4 if x< =2
a. Graph the function. f(x) = '
b. Use your graph to determine the function's range. x-4 if x2-2

a. Choose the correct graph below.
' O B,

-~

b. The range of f(x) is . (Type your.answer in interval notation.

RS G ph Sk T

g
T4 e e (e 00eE
| ."II
/ (jz S X—Y = 6(?’_1) C/‘)’({ ,-f"j

Circh

Answers

.-‘--

1D: 2.2.47

6. f(x + h) = f(x)

Find the difference quotient of f; that is, find h . h#0, for the following function. Be sure to simplify.

fx)=x2 -3x+7

fox+h) = fx)

h (Simplify your answer.)
hucet )=ty

Answer; 2x+h=-3

4 3 1
ID: 2.2.61 (Efi')_i@i%ﬁ 7) ()(’"3—’@‘—‘7) =

(X4)(t4) O L By e ¢ I
—-— 4
; 1 g
e Xh )(L\:f_é;f_:l)(’Bé"fqﬁx — =
A

)é}“:s&x_‘\ 4"

‘2’(4’{':1*3[’ - %4 +
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7.
Use the graph of y = f(x) to graph the function Choose the correct graph of

a(x)=f{x—-4)-1.

y = f(x)

9&) < f(zéca) —/

- ) sh iz fm
_masm

_F._._,..-F"
8. Find the domain of the function. /, 1. 20—%X = 14)/ 77 ""{"“*
f(x) = 4/20 - 6x /O .-f,( ,_f//,, > ()"Z,(-)
What is the domain of f? .._.5——>< =~ Y )

! I {Type your answer in interval notation.)
- '——7< < Z‘} (;l( e G

S

b

Answer: (- c0,4]

? "r 7‘5\/47 q//fjﬁ-é/ (/‘d;,,,(
ID: 2.6.23 /( < ¢ O

-
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" First find f+ g,f-g, fgand é- Then determine the domain for each function.
+ f(x) = 4x° + 27x - 81, g(x) =x+ 9 é(/.fj,;d -
T O A )
What is the domain of f+ g? Zf)/Lv'f' L7 X "‘i/ + 4({7‘7 -
o e AT
° (B2
S s
(T fot) —5a) =
(f-g)x)= ](Slmpllfy yogagiwer) e 7 K’—_ ‘?/) ()(-fj) -
What is the domain of - g? Cf&_ﬂ/ﬂ_{-——// —-)(——'7 = .

S (X rexoto

7
e
dw=T—"""] @/ - S56 =
What is the domain of fg? &X a4 / ,(—-—3/) /)“(7‘9)

@) 45) (45

(s
5 ([_‘_j:fl)u(_gm, ("Y t 36’(_1“1izx7’f 2K = VX —7p5 —
O (-0 U463 F/6 X ~ 7235\“
[ ](x) :(Slmpllfy your answer.) (,;L{)

What is the domain of — g ?

O [0,00) 962/
O (-0, -9U(-9,)
5 X*9

(%( 08 Xf?)
22

SOFlS ol 572073019, T245 PM




MA1314FIESTACOREQI414READY029-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

Answers 4,2 1 ogy — 72
(= 00,00)
45 +26x - 90
(= 00,00)
4x° +63x% + 162x - 729
(~ co,c0)
4x=-9
(=~ co,~ 9L ~9,00)

ID: 2.6.35 .
S

10. Fo{'ﬁx) =x+ glan)d g{x) %x_ +2, find the following functions. f )} ]
o

a. (feg)(x) b. (gof)x); c. (feg)(-2).d. (gof)(-2) ) ) <
a. (fog)(x)= (Simplify your answer.) // S’,/ﬂ):

b. (g o fi(x) = (Simplify your answer.) 6'5(—(-?_) +3-
c.foo)-2=[ |
d.(gof(-2=[ |

Answers 5x+5

5x+17

-5 ﬁ()(’f’}) ;,'
7 SUxey)+ L %

fs(f/r—(' .
 ID:2653 /’/E'J(—Fl?_,_)

11 ' Find thlrofpomts d Wt_fﬁ —73 o ———
(10,5) and (7.9)
-y

The)dqs?a{nce b{%vze'?fthe points is I units [ ?))
(Round to two decimal places as needed.) 4
UF 7)¢ -f-'/ =) “q) ¢

ID: 2.8.1 C! f(}/ 5 (95)

(sz N

Answer: 5

70f15 \mmm
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12. Find the e line segment with the given endpomts /O ,
) =[N, ﬁ’ %) L =
(4,2) and (6.8) M. f ™ =1
X4

The mldFomt of the segment is
(Type an ordered pair.)

mad - ((‘;_//'f @/ ﬁw/w/ ”f/“*- (Y S)
mof = (97“ 2,_17) .

Answer; (5,5)

ID: 2.8.19 v
13, _— . %

Complete the squa e the equation of the circlé in jw
sfa orm. Then defermine the center and radius of the 1o
circle to graph the equation. a:
X2 +y +Bx+4y+4 0 6

X rgx RX + -ty TLED .

he equation i standard rmis L 1

{Simplify your ariwer)

)(T {l)gthegrap |ngtooltograp2the_ca;-:e(/ (ST 12- T .1.[)‘:
e gx -+ ﬂf(f))—r 9 —f‘/;-f/ﬂ‘f) -t (1//5)) —fﬂ//q)) .

YA R) St ag ) = el gL A

)( ’ﬁf(?‘/é 'f'7 —f((g: T =/ .y .

>(—f-t() W-¢<) ((j”f”l)(7"‘?—) = /('
Answers (v + 4% + (y +2)% = 16 g—fcy 7‘/7—#2,) /b

Ay
104

’L

102853 ———

Bofl5 5/20:2019, 12:45 PM
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14.
Use the vertex and intercepts to sketch the graph of the j‘y
quadratic function. Give the equation of the parabola's axis 10
of symmetry. Use the graph to determine the function's B:
domain and range. i
fix) = x? +6x+8 6
4
Use the graphing tool to graph the equation. Use the vertex 1
and one of the intercepts when drawing the graph. 25

¥y

ol
B
=
=
~ E
]

rr E T T T
The axis of symmetry isl : [0 8 6 04 -2 2_

(Type an equation.)

The domain of fis ] L '4”

{Type your answer in interval notation.} -6

The range of f is . -8+
{Type your answer in interval notation.)

Answers

x=-3
(= c0,)

[=1.00)

ID: 3.1.27

9of 13 5/20/2019, 12:45PM
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j Dﬂlﬂ O pra U q
=29 =7 g

a. Determine, without grapﬁg?vﬁlzlher the function has’a mtnlmum value a maximum value
b. Find the minimum or maximum value and determine where it occurs ,é
c. Identify the function's domain and its range. _é, ( ) )

Ze,
a. The function has a (1) value. Ver L( X = ( (Zc)/ % ( ZJ )
b. The minimum/maximum value is | It occurs at x = 2("7—) Z'M)

c. The domain of fis | . {Type your answer in interval nog on‘)’{/ - /
The range of f is f_—_} {Type your answer in interval y
s ( 'y r/( )
{1) O maximum ¢ /C/
Vers 15, 29t 21—

O minimum
Answers (1) maximum {C:j‘*\/ (‘r - Z/f){)’) - 24.) /’“7)
“ e (f e SCRE 0 -7.)

o3 , | |
B ID'3141( C:Vi}M/ ﬁég ”__ 23 @

15 Consider the function f(x)= - 2% +20x- 7.

16. The following equation is given. %, ss. bl "é‘[f i

x3—2x2-9x+18=0

."
—_—

ﬁ'} 57'1}4(’ 72 J(u;.s-f

a. List all rational roots that are possible according to the Rational Zero Theorem. ] ( e —c% [ f

i - J 3 /%

(Use a comma to separate answers as needed.) ( [ - 6 —'-o--cq-—-._h :/]
b. Use synthetic division to test several possible rational roots in order to identify one actual root ,f_,\_ﬂ

One rational root of the given equation is . )( -TC)( —’(
{Simplify your answer.}

_ - Qé( *f‘}")
c. Use the root from part (b.) and sclve the equation.

K=t =70 O xe3=o
The solution set ofx -2x -9x+18=0is

(Simplify your answer. Type an exact answer, usmg radicals as needed Use integers or fractions for any numbers in the

expression. Use a comma to separate answers as needed.) ”l -+ Z -0 - L O )( 3 _3,_ } —J—3

=10 o =37
Answers 1,-1,3,-3,18,-18,2,-26,-6,9,-9 C_//

2

2,3,-3

| 1 SN _, x
ID; 3.4.17 a T—_}’} 2;’ F—) \

H - ~ T = g _.-_-h-_"_-"“'-—-.._
100of 15 e 5/2012019, 12:45 PM
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e

17. Find ihe vertical asy es, if any, and the values of x corresponding to holes, if any, of the graph of the rational function.

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. (Type an equation, Use a
comma to separate answers as needed.) Sd"

O A. The vertical asymptote(s) is(are) and hole{s) correspondirlgjn_- ®

O B. The vertical asymptote(s) is(are} . There are no hol
O €. There are no vertical asymptotes but there is(are) hole(s) correspo

() D. There are no discontinuities.

Answer: B. The vertical asymptote(s) is(are) | x=3,x=0 | There are no holes,

ans e/ @“ 597/ Mb\‘

ID: 3.5.23 ——— —"
.

18. Find horizontal asymptota, if any, of the graph ofthe rational fun / 7’( l
e ———————

18x° 7t //n'-\ XL —
9x° +1 /(’_;M ?)(_{'/ - X—=>00 2)_(_7 _(__/

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

[

) A. The horizontal asymptote is . (Type an equation.) — / ?-\.\

7 (L

-—?{}O ﬁ_

Answer; A. The horizontal asymptote is y=2 . (Type an equation.) q -

orftunt s :
ID: 3.5.39 h N’U/y 7’% éf:@

659y ot

() B. There is no horizontal asymplote.

g = = ‘:a-.._,,____________:——'-'_ Coee
19. Use erties of logarith expand the legarithmic expression as much as possible. Evaluate logarithmic expressions
without usifi ator | sible?

o [xav] —7 £07./9()(69/ ﬁ&’j @3) =
Gos (4 G (9) = L3, (&0)=

lofl5
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20. Solve the following exponential equation by expressmg each side as a power of the same base and then equating

exponents. X- :
p9x+t: 81*" 8 "'Jj? (3) % (cy)( 3 / Z*("P)(’Z Vi/f? 2_—;//
- 23 1> / —iX =—=% L
The solution set is { ﬁ» g ‘;JX e / — 24 - -~ 2.
Answer: 21 2)< T3 = ?)( "‘3 O
XA 5 = I 2y
ID: 4.4.19 X = Fx o G

21. Solve the following logarithmic equation. Be sure to reject any value of x that is not in the domain of the original logarithmic

+ exprassion, lee the exact answer. r‘( ‘\/' - | L ¢«
logz(x+23) 25— Q = X¢ 213
7

Select the correct choice below and, if necessary. fill in the answer box to complete your choice.

b2l D7 T XrlZ

) A, The solution set is { } {Type an integer or a simplified fraction.)

() B. There is no solution. 3 Z — )(% Z ,)(

30 —2 2 xﬁa/-:z,a/
Answer: A. The solution set is E} (Type an integer or a simplified fraction. )(

iD: 4.4.55 a 5 L\J(’ 4

K, S——

22. Solve the logarithmic equation. Be sure to reject any value of x that is not in the domain of the original logarithmic

expressions. Give the exact answer. égj (({_ 1Y) l . C, }]/qé

log g(x +24) - log g(x = 11) =2 ,(,-/( (')
R
Select the correct choice below and, if necessary, fill i |n the answer box to complete your chonc/ 6 (f &L "() [ b (4% 0”‘ Z
(ﬁ W
) A. The solution set is { 6

—{ | ' i
(Simplify your answer. Use a comma to separate answe)rgas needed.) 0% (3( ) —{"jc ﬁy ) oy

(O B. There is no solution, 3 6 /(.-'F 2% g
-—""—__—_—-
Answer: A. The solution set is @ / {/{ I 6—0\’6( %

(Simplify your answer. Use a comma to separate answers as needed.) .

36(x—11) = [ (29

O 36y 396 = X4y
36 x ’“f@(-—f%( (Xt 2er3S(

26X <X + $22
36x ~[¥ =% g2o —tX

3sxX < ?—Cw
35X . LAQ
F-o 7 35

I3 0f 15 S0 IS P
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23. Solve the logarithmic equation. Be sure to reject any value of x that is not in the domain of the onglna ogarithmic

expressions. Give the exact answer/? / o )C){} ( m) CO j / ;,- !7
log x+ log(x+2)= log 48 )((['f'z.) - q;_a/

Select the correct choice below and, if necessary, fill i |n the answer box to complete your choice.

X +ix =¢Y
L) A. The solution set is { }- /(Z' T 7 =0

.

(Simplify your answer. Use a comma to separate ANSWETS as needed )

) B. There is no solution, ( 6'.'—0/ C_ —~+ )7 Z'Og-i) 'f‘dj/ f*{)’@ (/57
..... — 7 — "/
Answer: A, The solution set is m - )(—Fy y 60 ) "Z) —FCU 45 %( ) (9)7

(Simplify your answer. Use a comma to separate answers as needed.)

Loyl atrd), ¢
Loy/s)-+ Cg./g) s

X—G 6.2 OF oY AAD /7’/4D
_ ID:4487 ( X :?\." J«C)&é\’ﬂ Wr

24. Complete the table for a savings account subject tg:}nmpoundlngs yearly. 41,(. ——
[ [ r}m] 2¥%000 /3000 [/.f 4Og£r Gg
A=P{1+—
Amounted Number of Annual Interest Accumulated Time t
Invested Compounding Periods Rate Amount in Years
$13,000 4 6.25% $24,000 ?

Let A represent the accumulated amount, P the amount invested, n the number of compounding penodé rthe a/l;ueff
interest rate, and t the time. Find the time, t. 2 VOOU - /}60(} ('/ 0/ rGZ )

t= | years

(Do not round until the final answer. Then round to one decimal place as needed /"X 7 é ) g/,ﬁ / /

it 4‘2’/2‘4// ol5iz K1) Ay,
(0 FS6 (5356~ (foo/5ii) j/(%(/”’““’ Wg
ID: 4.4.107 /Z—u (/ 595{;-} 79c) < /ﬁ//g/;@

Answer: 9.9

— —"—‘—-——___ ;
25 Complete the table for a savings account subject to continuous con{'ljaou Lding. | |
L (aseem) /2000 = §ovo (" G s
Amount Invested Annual Interest Rate Accumulated Amount Time t in years
$6000 8% $12,000 ?

Jofis

Lo

ID: 44111/5'/7“) 'Of'é’&ﬁ;//

Let A represent the accumulated amount, P the amount invested, r the annual interest rate, and t the time. Find the time, t.

-Of ¢
N — ”—3‘:—-,2— - & - ) - 07¢

{Round to one decimal place as need d) (o 1O78 o f . d

Answem/&(z) = /(6 Be (é‘?’/’ﬁ?r?“ f)

/2) —WH//"*'—'
L(z) - df &
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26. Solve the given system of equations. Z,/t/ D W L ,( (’J _(_ 4 2)( “‘/

x+y +52= - 16 — ;-"
x+y+3z=-10 ( / i
x+5y+9z= =24 [ —r e
c‘ - 2 =
Select the correct choice below and fill i many answer boxes W|t n your cholce r --2 e
_ LVL/-I) }O'ZC—L/'JQ M‘—L‘ V/(/

() A. There is one solution. The solution set is

{( . . )}. (Simplify your answers.)
O B. There are infinitely many solutions. I/ 'd 0/ ( ﬂj =
o <

(0 €. There is no solution. / e
Answer: A, g
There is one solution. The solution set is { (] ” '
answers.)

ID: 5.2.5 dHﬁw/Qg/ U) “Z) /2 / ’2,2\

27. Write the first four terms of the sequence whose general term is given.

2n
%= h+s

ay= l_—| (Simplify your answer.)
a, = I——} (Simplify your answer.)
ay =|: {Simplify your answer.)
ay= I_—I (Simplify your answer.)

. L -
Q”_ Z/('L‘-"“"

Answers 1 l—r 5 6
3
o) C( L =
7
2
4 d 3 <
8
9
ID: 8.1.9 GY -

4of 15 5/20/2019, 12:45 PM
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28, 5

Find the indicated sum. Y. kik+4)
k=1

Zk(k +4)= {:(Slmpllfyy r answer.)
[(|+) + 2[2¢5w) + 3 2+¢) + ¥ %re) + o) —

Answer: 115 I(S’)—-{'Z,(G) —(-3/7) —{_F(f)f_f——(?) —_

S (U + 24 27 ~
LY Py A A N

29. Write the first three te Fe binomial expansion, Expressing the result in simplified form.

(x+4)°

—n;._|_____-_-_-_

The first three terms of the binomial expansion are
(Simplify your answer,)

Answer: 5 4 20x% + 160x°

O ;3 2
o Sl CRI P CET D~

(//ﬂ« JM&/ ) ¢ ( JV)//O
X~ 2ox” +/(0X

/E/’rlﬂl 16 /fnm

5 /44/4 //(/g #7C 7 a2 /
//‘vw//f/f Kr, [ = £ ;o
e 74, Her 2 o

I50f15 e e e B 52012019, 12:45 PM



